

Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: 225-5-971-2024-8-0-0

PR No.: GF-2023-10-02568

Date: 10-13-2023

Dept./Office: MPSU

1

Category: Construction

and Electrical Supplies

Section/End-User: Vincent Paul C. Asilom

Project Title/Code: MPSU-2024 REPAIR &

Funding Source: General Fund - MOOE

MAINTENANCE

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	500KG Electric Hoist 1600W	unit	1	30,000.00	-	30,000.00
	Specification:					

Specification:

Double Hook

• Input Power: 1600W

Load Capacity: 500Kgs

· Lifting Height: 6 meters

Lifting Speed: 4 meters/minute

-						
	1 7	Demolition Jack Hammer, (Ground Breaking) concrete	рс	1	20,000.00	20,000.00

Specification:

Specification:

- Dimensions:72 x 34 x 20 cm
- · Rated Input Power: 2200W
- · Hammer Type:Demolition Hammer
- Frequency: 60Hz
- Power Source:AC
- · Usage:Renovation Team
- Weight:20Kgs
- · Rated Voltage:220V
- Power:2200W, 3600W
- · Power Source(Others):Electric
- . Voltage: 110V for US, 220V for AU/EU
- No Load Speed(2200W):1400 R/Min
- Impact Force(2200W):55J
- Chuck Size:1-1/8Inch (Hex)
- · Fore-Grip Handle Swivel:360 degrees
- · Oil(3600W):No.46 Hydraulic Oil
- · Usage:Home DIY & Industry
- · Chisel:1-1/8" Bull Point Chisel, 1-1/8" Flat Chisel
- Tool Size(2200W):410mm

	Machine Length (w/o tool)(2200W):630mm								
3	Electric grinder	set	2	4,000.00	8,000.00				
	Specification:								
	Diameter: 100mm								
	Voltage: AC, 220-240V; Amperage: 3.2A								
	Hertz: 50-60Hz; Wattage: 840W				-				
4	Electrical Tape, Vinyl	rolls	30	75.00	2,250.00				
	Specification:								
	?Flame retardant and compatible with plastic cable and wire harness insulations ?Flexible PVC with aggressive rubber adhesive								

?Primary electrical insulation for all wire and cable splices rated up to 600 volts.

?19mm x 16m x 0.155mm

?Heavy Duty

?ASTM approved

_					
5	Heat Gun 2000W 4 nozzle	unit	1	3,000.00	3.000.00

Specification:

Specification:

Voltage: 202V-240V, 50/60 hz

Power: 2000W

	AirFlow: 300/500L/min with 1 pc	scrapper	and 4 pcs No	zzles	
6	Industrial and Heavy Duty High- Voltage Electrical Tester	unit	2	26,000.00	52,000.00

Specification:

- · Calibration Every 1-year
- Fork opening 17.8mm (0.7")
- Temperature: Opening (-10 °C to +50 °C)
- Storage: (-30 °C to +60 °C)
- · Altitude: Operating (2,000 m)
- Storage: 10,000 m)
- Relative Humidity: 0 % to 90 %, 5 °C to 30 °C
- 0 % to 75 %, 30°C to 40°C
- 0 % to 45 %, 40°C to 50°C
- Battery Type & Life: 2xAA (IEC LR6) & 200-hour using the field sense Function
- Temperature coefficient: 0.1 x (specified accuracy) /°C for <18 °C or > 28 °C
- Safety: IEC 61010-1 : Pollution Degree @
- IEC 61010-2-032: CAT IV 600 V/ CAT III 1000 V
- Electromagnetic Compatibility: IEC/EN 61326-1
- · General Requirement:
- · Provide one-year Warranty
- · Provide technical assistance and training on product usage and service center within the Cebu or Manila.
- · Product Manufacturer/developer at least 15 years in the Electro-mechanical maintenance industry

-					
7	Industrial and Heavy-Duty Non- Contact Voltage Tester	unit	5	3,500.00	17,500.00

Specification:

- Voltage sensing ranges :90 V AC to 1000 V AC
- · Detector tip style: Flat-tip
- · Light Source: One high intensity red LED
- Safety IEC 61010-1: Pollution Degree 2, IEC 61010-2-030:CAT IV 1000V
- EMC : ICE 61326-1
- IP Rating: IP 40
- Operating Temperature: -10°C to 50°C (14°F to 122°F
- · General Requirement:
- · Provide one-year warranty
- · Provide technical assistance and training on product usage and service center within the Cebu or Manila
- Product Manufacturer/developer at least 15 years in the electro-mechanical maintenance industry

8	Pipe Wrench #6	рс	1	5,000.00	5,000.0	
_		P		-,	0,000.0	- 1

Specification:

- · Super strength cast aluminum and alloy metal handle.
- · Two way toothing and spring loaded jaw provide positive grip
- · Made of Chromium-Molybdenum steel forged jaws heat treated
- · Hand Tools Type: Wrenches
- · Jaw Capacity: 34 mm
- · Size: 6 Inch

Ī	9	Pipe Wrench, 12"	unit	2	4,600.00	9,200.00
	_	po		_	.,	-1

Specification:

Specification

- · Heavy Duty Straight Pipe Wrench
- Durable

10 Machine, 300A Inverter Unit 10,000.00 10,000.00	10	Portable Electric Welding Machine, 300A Inverter	unit	1	10,000.00	*	10,000.00
--	----	---	------	---	-----------	---	-----------

Specification:

?Phase: Single

?Max. No-Load Voltage: 60V

?Duty Cycle: 60%

?Rated output current : 300 Amperes ?Single phase, portable, fan cooled

?Low energy consumption, light in weight with handle for easy handling

11 Pressure Washer Set, Heavy Duty unit 2 15,000.00 30,00		Pressure Washer Set, Heavy Duty	unit	2	15,000.00		30,000.00	,
---	--	---------------------------------	------	---	-----------	--	-----------	---

Specification:

- 80 Bars = 1200 psi
- · Contents:
- Electronic Motor 1.5 Hp
- Piston Pump
- 50m discharge hose
- · 2m suction hose
- 2 m return hose
- Sprayer Straight
- Base
- · Power cord and plug included

12	Steel Brush	pcs	10	70.00	700.00
13	Welding Gloves	pair	10	500.00	5,000.00

Specification:

?ISO and CE certified

?EN12477 Type-A protection for welding and thermal jobs

?Suitable for stick and MIG welding, as well as torch cutting and grinding

?Premium split cowhide leather and welted seams

?Cotton lining provides thermal insulation

?Long cu	?Long cuff extends protection over the forearm.									
	TOTAL				192,650.00					
Purpose: For	Repair and Maintena	nce								
Checked by:	PHLOEM D	GALUPO	Funds Available:	LICIAM. FLORES						
T	WG - Construction ar	nd Electrical Supp	lies	HEAD, BUDGET OFFICE WIF						
Signature: Printed Name:	Requested by:	C. ASILOM	Noted by:	ON G. BURLAS	Approved by:					
Designation:	END U	SER	UNIT HEA	D. PROJECT LEADE	R PRESIDENT, VSU					